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heat load test(9th)

After cooling down
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SERFETA 7.06K

mEEB 5.97K




Heater[W] Tmass[K] Tblade Tecopper hanger

Result

(The graph is shown on the next slide)
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We confirmed the speed of all temperatures became

constant.
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heat load test(9th
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heat load test(9th)

- If we know the thermal conductivity of
sapphire fiber exactly, we can calculate how
much each temperature should be.

- We are asking Sascha the exact thermal
conductivity.



Future work |

- We will compare the measured temperatures
and the calculated temperatures.

. We will check the calibration of the sensors
using the liquid nitrogen.



Future work?

We will change the copper clamp to
the one shown on this page to
reduce the thermal resistance
between the blade and the copper
support.




Future work?

- Now the height of the copper clamp is too tall
to install into the cryostat.

- | will go to ISSP and make it short.



